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. The ieast numbhber whic-h when divided by 5, 6, 7 and 8 leaves a remainder 3, but when

divided by 9 leaves no remainder is

(4) 1678 w1683

(C) 2523 . (D) 3363

5, 6, 7, 8 e auguBL CGung BFl 3-1 Imad auGuU@L Curg B Lguib ayésigL Hss Al

- STGUTENT TG
(A) 1678 (B) 1683
© 2523 (D) 3363

- The simple interest on Rs. 68,000 at 165 % per annum for 9 months

(A) Rs. 1,200 : (B) Rs. 8,050
o Rs. 8,500 (D) Rs. 1,020

(e 162 % ofsib 68,0006@ 9 wrpsdbarer saf el Lirarg

(A)  @. 1,200 (B) . 8,050

© . 8,500 (D) . 1,020

The mean of 5 numbers is 25. If one of the number is excluded then the mean becomes 20.

The excluded number is

& 45 | (B) 40

(© 20 (D) 10

5 cramaefleh snl_ El;lr&'-iﬁ 25. supHd @mss G aarman fsdamed Supder s Gsynsfl 20
erafled BEsUILLL eramammans; ;

(A 45 (B) 40
€ 20 : ' Y10
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A) 1 E | {I?/ﬂ'

3
[
B
to =

1+ [ﬁ% e % uriits ] *%Eiﬂ wdIUTaTE

(A) 1 By 0
: 1
c 2 () 2
5. If8~5 xd =44 and 15-3 x3 =48 then 16 —-4x5 =
(&) 60 ' (B/Eg
c D 4

85 xd =44 whpd 16 -3 x3= 48 creldd 16— 4x5 = ancirs.
{A) 60. - : {B) €9
< - | ) @ 4

6.  The value of J243+J52+4144 is

Ay 14 . : _ {B/ 16

c 18 | (D) 26
Y248+ 452+ 144 & wfuurens
A 14 ’ By 18

(€} 18 : ' (D 26

LAGS/N19 4



" Four of the fﬂlluwmg five. are alike in 2 certain way :-:lnd_ 80 form a group. Which 1 the one
that docs not bclung to the group. '

11, 13, 15, 17, 19

@ 18 - (Bi/ 15

L ©. 1 o @ 19

EIEQJEEMI_ 5 erefraadld 4 STERTEGT {1 @gr}]u G Lremrme) {5 et Bl @@ e T DE. @1&5@@@@5

-G&i;rrrga TR aTEF? - . 1 _. .
11,13,15, 17,19 © . SR - - . R
@A) - 13 | . B) 15 5

© 17 S O 19

If DIAMOND is cudcd as GLDPRQG then SYSTEM is coded is
(Ai/ VBVWHP a _ (B) VBVWOP
© VBWVPH . (D) VBOWPV

DIE_MDND Ermug.l GLDPRQG eremé @ MuTH Ao’ L rd SYSTEM uarmug,m @Lﬁ]uﬁ@
(A) VBVWHP- : T . By VBVWOP
() VBWVPH . Dy VBOWPRV

A building is in the form of ﬁ hollow hemisphere of outer radius 100 m and thickness of wall.
i 1 m. If cost of painting 1 sg.m. is Rs. 5 then total cost of pamtmg both the c-uter and inner

walls of the hmld‘mg is (Take #=2% 22 )

(A Re. 125,000 . (B) Rs. 2,566,000
(€) . Re.5,16,126 | | o Rs. 6,22,317

(b 8y LD SAewrsGamer augalleb ¢ amengl. Deueflyn 2b 100 8. saufldn giyioen 1 . g Fmy ST
| GEW(EE SUTETD | & S Llgany wp. 5 aafld, QLDrrg,—.g o LI iDL G'Isua’ﬁqm FEUTHENET GUTEITLD | L&

<@ Gords Qeway (7 =22) _
(A) - Rs. 1,25,000 . . (B Rs. 2,56,000
(C)  Rs. 5,16,126 . @ Re 622,317
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10. Three numbers are in the ratio 2 : 3 : 4 and their H.C.F. i3 10. The numbers are
(A) 10 20 30 ' _ ' {B) 40 EEI_ a0
¢y 30 20 40 ' o Dy 20 30 40

@pﬁry eremasaflen efldlsd 21 3 1 4. amm&aﬁm & Glum cu. 10 erarilay, Bi B CTERT&HET

(A 10 20 30 : By 40 20 30
() 30 20740 - : (D3 20 30 40

11; - Study the grhp‘n carefully and answer the gueation :

item{s) has maintainaed a rise over three wecks'

100 r==mevmmmnn FRREEEEECEREEEEEE

T e
501 -um------- - ------
25 ] EEEEEE
0 i - faKbich T
Weck [ Weefl_{ II WeekIll
RGY (a) and (b) ' ) ' {8) (b and(g)
(o () and (a) - . (D) (c)only

QUEHTLIL SEEE Heuanons <,rmipbg edlen wef]

ELPE) ST Sghih llenmin Cumasar

i T

BO 4o oe--

26 o

o1 Bl bl
f@HEIch T @GNS | Ebe) '
aurn;u_.‘nl_ guttpn IT summn 111

&) @uwppb® B ) wppd )
O (O wppd @) . . D) @uiEn
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12.

13.

14.

15.

The volume of the hemi sphere is 1152 7 em” then the curved surface area of the hemi

sphere is

(A) 242 xcem?

(Cy” 288 7 em?

(B) 208 xem®
(D) 338 mcm?®

g sienyCanansdler saraierey 11562 7 em” arafléd s auenamps @euafuirlider LipiLiarey

(A) 242 7 cm?
(C) 288 7rcm*

The dimension of Minl_mwski’s space
(A2
(EE—]

WlenGamavdl Heuetulfler uflwmemn wng?
4 2 |
o)y ool

(B) 208 7 cm?

(D) 338 rem®

(B) 3

v g

@) 3
(D) 4

Sodium chloride 1s an example of

(Ayf Ionic
(C) Metallic

erystal.
(BY Cowvalent
(D) Vander waals

Gamgwib @Cermeanyl Ligeuld
(A) well Yenemmiy
(C) = Carsdenamriy

Ul s e T HaHEETL ([
(B) &8 Genanmiiy j
(D) surari sumed HenemriiL

What remains constant in carrier wave in frequency modulation?

(Al Amplitude and phase
(C) Frequency and phase

(B} Wavelength and phase
(D) Amplitude and frequency

sardl yanavasafich oydflrleuem uanGupngslen Gurg ereney wrilallwmgbh?

(A) &iFs wpmb LD
(C) mflrtleusm wohmyb L1

(B)  =yenaoferi whmibd &L b

(D) &fFs whmib <ydrtleues
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16 Which plasma protein is used in Antibody '.furmatiun?
(A)  Albumin -~ @@ Globulin
{C} Fibronogen . () Thrombin

6T denmeismyn g Cumi ATy Qummear o mmaurs LoD mE?

(A oyl (B) sCaadlen

{_C} anU A Cemger (1) &GpmoSen
17. Duri.ng- expiratiuﬁ nl:lr,bﬂdy loss of water amount

AW 400 m.] | (B} 300 m.]

(C) 200m.l (D) 100 m.)

Jaefiracunssflan Cungy pmo semmmih @upsslufub Flfldr oerey
(A 100 B.d. (I 300 A.ed,
() 200 6. (D) 100 568,

18. Biomedical wastes are managed by
(A} Bioremediation - (B) land fills
[C/ Incineration {IN Surface impoundments

2 W3l wges Sflasd SHPESLLGL WD
@ edfosbio C® Papse frouss
Gy afigms smbunksd . (D) CuiurdSd apy@augsd

19.  What is stored by Elaioplaat? -
fAY  Protein _ (B/Lipid
{Cy  Carbohydrate (D) Sugar

anaCumlarmevganrd Gaudsslnun Qumggen aréaen?
{A) ygsb {B) &fludc
) smniGuneran Grl (D) e#n&senny

LAGS/19 8



Which alga is used in space travel to remove CO:z and other bod ¥y wastes?
(A)  Volvox gl @ Chiorella

{(C) Eudorina . (D} Chlamydomonas

eflesrrGlauatlls uumﬁ,@@hﬁ:r@ EnfLan-aL -sgdmen(f whmb oL dldlmbs Qeuefliunsn sfla
GQummlsenar deuellCwpm 2 Seyb L&T aTE?
(A)  surdieumsien : (B) @CamGreaan

(C)  wyCLrenganm ; e (DY . &amErGuomensio

The heaviest naturally occuring element is

(£ _ Uranium - : (B Tron

{(C)  Aluminium (D) Silicon

(1 seminmen, @whensusled sremiGUm b 2 Camsih
A)  yCreflun - (B @ovy

(C) smayfleflun ; (D) Sdlssmen

In Schotten-Baumann reaction the product is
AW amide Sl (B) imide

(C) ester : (D) oxime

susTLen-ueulioen eflenaruileh eflenemellenar Qummer
(A) SHanLo {h) : (B) @eaw{m

(C) erevi : (D) =ysameub

> 9 _ LAGS/19
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23. ¥ Pink revolution” is assuciate& with

U’V Fruits ) (B) Crops
(C) Dairy farming ' (D) Flowers

“Eererflaucsy 4 Glamdn QEmfyeswg

(A) . saflsdr (B) * wiSisen
(C)  umé Ueenast Geme : {1} weiser
24.  Moise level is measured by an instrument known as
{A) Hygrometer {(B) Seizmogram
(CJ Decibel meter (D) Thermometer

FLgGSEen sjarefiaen Siamefll LwenLBh smmefluiidr Quur
fA} .mméﬂvn Soor (B} EeruGur Srmo

{©)  Qudlua BLr (D)  @gituon B

25. Whichis the lﬁrgest mangrove forest in Inﬁ?
_ (A/ Sundarban '
(B) Pitchava;:'am
(C) Muthupet
(D}  Gulf of mannar

Byl il e ﬂaﬂ@uﬂm .ﬁmwmnﬁﬂ& EAEET sréf?
(&) shspacs snpsdr |

{B) Aseraumb stpsdr

(©) apsmuCulen srpser

i wenemy QUGN
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26.

27.

As per National Sample Survey (N8S) 27 round in India ~—— ———— of the rural
population has no skills at all. ' :

aW 91% (B} 70%

©)  84% - D) 94%

Gadw wrdf wldiSlyer vy (NSS) gam 2Tag spda BsHureadley : D&
Fpaonuppensars Gumédnnract crendpg,. _

(A)  91% ' (B) T0%

(©)  84% ' o 94%

Statement] :  The maqney creation multiplier is equal to the reciprocat of the -

minimum reserve ratio

Statement 1 The banking system aa a whole can grant new cretlit up to an amount
of excess reasrves

[A/Bc}th statements are individually true and statement II is the correct explanation of

statement I . ‘

(B) Both statements are individually true, but statement [ is not correct explanation of
statement |

(C) Statement I is true, but statement IT is falsc

(D) Statement 1 is false, but statement II is true

Sapm | : var cmarss doumsd aaug soonps ooy dAdsgda gaalp
: s nE sooratg

sa sy I1 : gl'.@ Qurgg suiidl seosuUreng MseeLw Hfslugwnra @muSHEedr

: yHu 5L cnsame aprsams

{4 Brenr® sonpsEsCe saflisalGu -_El‘f'lmnmmm Cugnd spm I spp I &3 #furen
efler&aLbm@Eb ' :

B) Gren sonsgEGun safifsgaflCu sunramer Cognbd mom I smpp [ &5 Flﬁu.ll'rﬂ.T_

© ellandEwedes '
{(Cy  apml aﬂu.:rrarrgi. Zpennch sy [ geummeng
D) mpplgeunray, spard spm [1 sflumeg - _ ~

S11 : LAGS/19-
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28.  Fiszcal deficit 1 equal to
{ﬁ.}, Revenue receipts + Capital receipts — Total expenditure
(B} Market borrowing and other liabilities
(C} Revenue receipts — Intergst payments

(D}  Revenue receipts + Investment

zﬂ@ud;mﬂéﬂfﬁmm aTeLig)

{A)  eumwonen pfg + apash ndgy — Quongs Qasey

(B}  smsmgifid s eurii@sd wHmb sy Aungojsea
{C) m@mrr@ 78z — au' g QAsaelland

Iy eugmwren 1&g + apsdBadr

29.  The lood corporation of India was set up in the vear
{A) 1962 (By 1963
© 1964 ' Oy 1965

: @_{bﬂu-ﬂ_méqé E-Epém (LT T TN TR TRy (h

(A) 1982 " (B) 1963
G 1964 D) 1965
30.  Which one of the following is called as the ‘Instrument of inatructions’?

(4) Preamble _

{B) Fundamental rights

{C}) Fundamental duties

O Directive principles of the state policy

&Qé&a&sﬁn_mﬁ}guét.srﬂ Sl eum e Hmedl GTEHT) SenpEaEL U (Hdns? |
(A)  qpasyeny

(B .ﬂil.q.l;luiml._ e Ao

(C} sgloen &L anosen

D) sfen anflsm’ G Qg flser

LAGS/19 _ 12



31

The maj.clr theme of the recommendations of Stnghvi'cmﬁmitmu 15
(A)  Decentralisation

(B) Community development programme

I;C_I Revitalisation Panchavat institutions

(1 Women reservation .

Srvefl g ullhgenTulilen (pssiu (T 6L AT
(A}  flsmrlumsud.
(B)  spps cuaniddls LD

(Cy o a8 4 TR SHEIHET dhsior(Bh 2 ullT dumensulig)

(D) Quemsgnésren G @5IEE0

']-“he National Commission for women was set up in the year
(A) 1991 ' {B/ 1992 .
(C) 1993 - (D) 1994

Gadl Qs penammub Elmeu i L e (E
(A) 1991 ) {B}. 1992 -
(©) 1993 (D) 1994

W’hiuh of the following committee is associated v.:ith central vigilance commission
(A) Sai‘kari_a Committee

(B) Mandal Committee

(G K. Santhanam Committee

(D) S.K. Dhar Committee

WE&EIW seirsnetl L) SpenanmD SpEseaT @il oTae L e AeTL e uig)

(A) FrEETiw FHp

(B)  wama Gy
(C) K. smsmembd @p -
D) SK s

13 :  LAGS/19
' [Turn over



[

34. .The executive officer of the "Cant,nnmeril; board” is appointed by whﬂ_m? _
(A) - by the District Coltector o (B) By the District Judge
'(C) Bythe Prime Minister =~ (D By the President

garGLrenAem mnﬂmgﬁ]m Fana)eut mngrrm AlaLngn Qamu_luu@ﬁmgj?
(A)  wreulo q%l_ilu.m (B) el ﬁ;ﬁuﬁﬂ
() dlrso Lng;g;lﬁf B : {3 gmrr'@ugl Fi (Sl WITEE g,mm@fr

a5, Which commlttee recummended that the seats fof SCs and 5Te should be reserved o the
bams of their pnpulatmn in Pancha} at Raj?

{ﬂ} Balwant_ Baj Mehta Committee
(B) Santhanam Comtﬁitt_ee_

(C_f Ashok Mehtha Committee

D) Dhar Commitiee

.::_mmm_.eﬂ ﬁusnmaﬁﬁw SC wdmph ST aa@ja;@ \n&&aT Ggrenguilen &quumuu’:’lm eEEER C‘Emm@m
aren e g Lo Aelss?
A udaps rmi GossT G
B),  apsrend @
(G} 2Gsmk Cogsm Gp
D)y srEw

36.  Inwhich one of the fo]_luwmg sessions of the round table cnnferem:e did the Indlan N’atmnal
' CDng‘rEss participate? '

' ' (ﬁ) First . - o . . (E/Secand
{C) Tlijrd _ (D) First and Secund

l@;ﬁ@m Gg;#]u_l asnmﬂlﬁmr a;m;ﬁgj Qemasr cul_L Guens- Lnrr'r_r;rr@ aTE)?
[A) @pﬂsm .- _ . T {B} @Uml_rrﬁug .
© weprug '_ ' D) o wip Prenk

LAGS/19 S 14 IR c



38.

39,

Lala Léujpat Rai di-:'zd due to
(A) gun (B) crowd - %
{Gr lathi charge : (D)} knife :

arar agudymd @oludne srperons .:’H;mm‘r_'aggj
(A)  gounsd (B) asiiib
(C) eos8wund Hgss0 D) s34

When did Rajaji start his salt sat}ragraﬁa in Tamilnadu?
(A) 20 March 1930 ; @ 13" April 1930
(Cy B8 ﬁuguat 1930 (D) 9t September 1930

SlpEm g e, pragmedl 2 iy sﬁ,ﬂmnﬂqaﬁmﬁ eremimy Glgmrdenmi?
(A) wmia2, 1930 | (B) g 13,1930
(C) =ysaul 3, 1930 () GsuLwur9, 1930

Which act made breach of contract a criminal offence and authorised the tea planters to

arrest a run-away labourer without any warrant?
{(A) charter act of 1813

(M inlaﬁd immigration act of 1882

(C) - charter act of 1833

(D) monopolies and restrictive trade practices act of 1969

g &L UILbhSREmaT p_r';'m_JL:ugj S flblemay @mmid eremmpb G’#uﬂmm uuilrﬂ@um:'rﬁ*: iq LIGLIman

Camarwm_semer ehg efls sumpam(BHid Faowmod ensg Qewend erenmid sabluig?
(A) 1813-1b yew(® Ll L WFsLLLD ;

(B) ocdamm (@ @EyCwimss b, 1882

(C)  1833-1b egpator(p) L L wiFs b '

(D) @,pm:ﬂmin WHMID eTePEEL- UL L auresiiuih HL gD &1 1b 1969 |

15 i - LAGS/19
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40. Babur wrote his autobiography Babur-Nama in —————— language.
(A) Persian : (B) Arabic

(C)  Pushto . i {[’Tu rkish

uruit gesrgnyent w Fwsflengan gl Guomgf

(A) umpés : - (B)  =ymSw

(C) . yeaGLm _ (D) smsfu

41. Who among the following designed The Madras University Senate?
(A) Christopher (B) Christian

(O Chishom | (D) Cheveliar

ECp sredrUmeusEHeT Claaeanan L& W s Eaar . Seneuenil Uiy eueniSEau T Wi ?
A)  AflevCGrun (B)  fflahgwiman

(C) Hevapmb- (D) QsCeucllwsi

42.  Upanishads are the hooks on
_{ﬁ.}_ religion . | {B, philosophy

(C) yoga (D) law

o uflgruser erarug Esaeany ubhblw LssstiseT
&) wpid - - B) phpoud

(C) Cuwnrsnr ] (D) sl

LAGS/19 : S er



43.

44,

45.

The first Defence EXPO to be held in Tamilnadu dui:ing April 2018 is at which district?

(A), Kancheepuram (B) Vellore

Q) 'T‘irl_wa]_lu;' : (D] Chennai

sl Brigd el Gup odrer apgsd wrgariy eagevGur 2018 amgs wreulL gdla merGlup

aﬁ‘rraﬁgj’? :
(A) smgpdlymib (B) Geugyim
(C). ~Smeudrgyi - (D)  Gssmenen

Which country has become the world's first country to enforce equal pay for women and men? -
(A) Finland : : : (B) France

{C/ Iceland : () Sweden "

SpekT, &L E)(meuHEEL0n SLowTan serdlu b eremm FLUL Gendg o audled (psedled Glameas (i) euhs B ergl?
{A) Semaorksds . (B)  Sgremen

(C) mevarpg 5 =T GII‘I.J';-‘mL..Erﬂ'.

Which of the following state will be hosting the 39t National games in 20227

(A Meghalaya | (B) Mizoram

(©) Asem ; (D) Nagaland

39eug Cedlw eflenamum’ (B, 2022- @) erfbs wrbled FLGS o eTarg)?
(A) Coseomur . - (B) HGsmrid

(C) aismd _ (D) Ersanks

1Y St : LAGS/19
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: Qﬁ, The taller building in the world is _ .
(&)  Shanghai Tower, China ' (B) Burj Khalifa, UAE |
{Cy One Wﬂfid"l‘:ﬁdﬂ Center, U_Sﬁ’ (D). Lotte World Tower, South Korea |

gé}éﬂsﬁg tBl& £ WITLomen S lg L Lh *
(A) smmiEmO L, S : : - (BW uirgg selum, EySwr

HE) | o @& eUT§SE LD, GEofldsr (D)  orlieasaoub Ggdatardur

47, Which one of the following pair is not matched correctly? >

-{A} SﬁNK.ALP_ — Miniat_rj{ of Skill Develepment
' STRIVE®  _  Ministry of MSME

(@) SAMPADA - Ministry of Food Processing
(D) SAUBHAGYA - Ministry of Power '

@w:_jn@da maney #ALTS QU mESSIULslletenn

(A)  shsdl - - Spen eueTI SPWEEHED

B)  sgera - . MSME -ziepwésaid

)  sbugr - cawtey DAWLOTES e DFEHU )

k

(D) Geeansfwr .&é@ﬁms&ra&mmwﬁm

43,. The digital paymen:i; app. launched in I_ndia on September 2017

- (5 Google Tez . (B Paytm
(C)  Mobikwik ) (D) Gateway

' QEULIbLT 2017 & @'rjr;ﬁ]p.lrr.a&d: euatluflciu L gafiiod slc e Qewed
(AY  Google Tez (@Ea ALdv) . (B} Paytm (GLi.lq.eTL)

(Cy Mobi kwik (Gomd Sefla) (D) * Gateway (Gar Gau)

LaGSns . . 18



49,

6l.

TAC-1 Vikrant aircraft carrier is to be commissioned bi,r Navy during the year
{A) 2018 (Bi, 2020
() 2022 . (D) 2019

IAC-1 sfl&gm cilwren goviid GUumMalUme sLDLSSL LD aThE e Bl o deng?
(A) 2018 ) _ (B) 2020
(Cy 2022 ' - (D) 2018

The twa major political parties of U.S. A ave
{A) Independence and Demeocratje
{B}, Republican and Demuocratic

{CY  Democratic and Socialist

(D) Republican and Communist

N AT EER P P Eren @é:é]m. 2 18 Lch 51 Fasar
(A  FEhSTd OHD REEMUED
B)  @nuss opYD GETHTLISD

(O gemprusD whob sapsd

{IH | (&5 LTEF wHDLD &by afleu

“ﬁl-:} Ihaa been appointed as the new General manager and board of control for ericket in
India?

{A{Saha karim _ (B) MV Sridhar

(C)  Kapil Dav (D} Dilip Sardeasi

P AfEGs anflugdear dung Guararrs yBgrs Buioanb Geduli et wii?
{A) sunmafibo (BY MV adar

{C) &9 Ggen | (D) Sy snGgami

19 LAGS/19
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i,

A sum of Re, 312 was divided sonang 100 bovs and pirvls, cach buy gets Ha, 3.6, cach gir] gots

He. 2.4 The number of girls ave
EVENE S o

(GO (D) G

M Sitm 100 wrerey, @mavi iy, CES5E Candin ULLg. g oilarouisg e 3.600, T
omermadl &g ¢, ¢ 4D ElenSg T wiresn Gl T eTERTemT Sannn i '

R VI tBy, 10

{Cy G0 (N 65

In an examipation 35% of students passed and 155 failed, Total number of students

appeared for Lthe cxaminaton is
{A) GO0 B) GAU

G 700 : ' (m Tl

i Gerelldl 55 apelipd wramafsd: Gafluyedraent. 455 G.r Sardefl sen daart wrafle. Carefld
ERSE ETARTI QU}T'&,'@. BLS T 28T 1 15 R uTa&Tm‘fr'éﬁ]Eu;rran,;

iA) G {B) G630

{C) T (I 710

The cost price of 20 articles is the same as selling price of v articles, IF the profit is 25% then

the numhber of artcles is
(ay 25 By R

«f 16 (D) 15

*0 G:_n.—rgjn‘ saftan urrstier effenangn x dum@ml s el cflipaupd sunb. Gl wmo Feeisn 75%

srafan eflbm ok selldn e1eimertl densTens;

(A : (B 18 _
€y 16 Dy 14 ]
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L=1]
o

Value of 28% of 450 + 45% of 280 is
(A) 152 - (B) 155

G 252 (D). 225

28% @ 450 + 45% B 280-én wAUY

(A) 152 (B) 155
(C).-:262: - (D) 225

(3o it ] R D) {3y (e o
b fad a

(4 1 (B) a
© b @O -1

a—lzl oM mILD b+l-'l sraflay, -::+l 245
b c a

REL ] (B) a
(CYE D . @) -1

Three men, four women and six children can cnmblete a work in seven dayvs. A woman does
double the work a man does and child does half the work a man do. How many women can

complete the work in 7 days?

a7 Ly B) 8

) - 12 D) 9

G @HILELL Ceuemeenw 3 spainsdr, 4 Guanser, 6 dmeuisea Carpa 7 pﬂl;.ﬁﬂfﬂd}l. g LT, G
Quer, e Qaluyb Gaeal Gurd B wLkE Caume Gelani. Gm Hpeer @ Gaib
Cauenantldy urd Ceuener Gaweunt arafld, 4G Cavamaenws 7 prisafld @pm. aTEFenan Quemser
Gesmaiiu@eun? 3 :

CA) T (B) 8

© 12 | ® 9

21 s LAGS/19
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(A)

(©

S (DSF EU(RGS) eremean?

(A)

(©)

LAGS/19

58. What comes next?

0

22

0

(Bh/-

(D)

(B)

(D)




59.

60.

61.

62,

1
- (A) QE% (B) lﬂﬁ%

In the ja.erics 7, 10,13, ... 20t term is ;
(A) 57 (B) 60
(C) 64 (DY 67

7, 10,13, .... erénim Grr.;ﬁmaﬁﬂsh euflanaulley 20-eug) eremmentmeng)

(A) g 07 e : (B). 60
( 64 _ (D) 67

The age of a man is 4 times the sum of the ages of his two sons. Ten years hence, his age will
be double of the sum of the ages of his sons. The father’s present age is

(A) 50 }'earﬁ ; (B) 55 years
{C’ 60 years (D) 65 years

- gmeuflar sHCurangw eum@ seufler Gm waanseflen awgsaflen sl (HEAgmanaenwts Cumd 4

wLRE odeg 10 anpLis@gesn Gng sefla aug @o waaseflan  awgseien
sal_(Hg@gmensenwis Gume 2 LG @ rafla, Seuflen sHCLTSW euwss

(A) 50 eumLravsar (B) 55 aumrusar

(C) 60 eymLmisen (D) 65 eugmLruaer

If x:y=3:5 then {5x+3y} :(15x-2y) is

@A) 7:6 e6:7
(C). 39:56 _ D) 5:3
x:y=3:5eafler.(bx+3y) : (16x-2 ) S

(A) T:6 (B) 6:7
'E.C} S D T : : Dy 5:3

If a sum of amount double in 9 years then the rate of interest per annum is
1

OV 115 % ) -12%%

e Qgrans 9 eumLmsefia) @ g.uurdamg aafld, el alfgsorensg
1 1

(A) 9;}—% ; : (B) IUE%
I ' 1
e — 0
© 115% @) 129
23 LAGS/19
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63.

64,

A mixture contains alcohol cmd water in the ratio 4 : 3. If five litres of water is added to the
mixture, the ratio becomes 4 : 5. Find the quantity of aleohol in the given mucture

(A 2.5 litres ; : (B) 12 lLitres
(C)  12.5 litres : : (I 10 litres

@ sweneunie .%dmgmrrgy.h sanaime 4 : 3 Adssdgietanen. sssw@anyLar 5 el
SasanneaF Crigmbd Qumyps, aflse 4 - 5 pfpsy. sriuldrer soemauuld dsanreilear
SICTENCUS FTEHTS.

(&) 25e&flier (B) 12&fiLr

(C) 12.5 s ' (D) 10&8lC i

If the following figure represents the outer surface of a dice. Which of the fﬂllowmg pairs is
not on opposite sides?

1.
6 2 ]
3
4
(A) 1and3 ' (B) 6and5

(C) 2and4 : (N1 and 4

pssrenb eugeaid G smus seuulda Cuod urleou .l'.m'.[ﬂ.ﬂﬁgj. £Cp QsrPésiulL
Gaensaflo ag adiussisalld simoung Bae?

1
6. 12805
i
4
Ay 1 LE;!,'bE!L'D 3 : (B) 6wpmd 5
C) 2uwpmb 4 (D) 1wvpgn 4

LAGS/19 e 240 o 2 e



What is the value of the Bohr radius of the electron in the ground state of hydrogen?
o A ' (B) 0.35A
(Cu” 0534 - : (D) 3.15 A

SENLoL L ST 5 amiellgerar srsu.{aiurrssﬂah Gurir sy rédlen wd O eramean?

(R A (B) 0.35A
(C) 053A (D) 3.154

Match List I and List II correctly and select your answer using the codes given below :

List I List 11
(a} Diabetes ; 1% Immunisation
(b) Marasmus 2 Blood v:;iscular treatment
(c) Booster doses 3. Protein deficiency
; -{d} Angioplasty : 4, Insﬁ]in

(a) (b) (c) (d)

o 4 3 1 2
(B) 2 1 3 4
© 3 g iy 4
(D) 4 1 3 2

uliguwied I g IJI-_I.-:l_UJE'I; II 2 e Qummsdl £Cp Gar@asuuc@earear GilliBamars Camem{ sflwumen

ehlen_sanend Carbls(H
u e | _ - L g 1T
(a) eoLwiigen 1. shHog# &b
(b) opmevLED 2. EIrsss Eeml dfsms
(6) omsgeloys0ULS 3. urgG@DUE
4. @ensedler

(d)  =pEsdlGuimblanmaiig

(a) (b ISR (C) ()

@AY s 3 1 2
(B) 2 1 3 4
(@3 2 i1 4
D) 4 1 3 2

25 : LAGS/19
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67.

68.

(A) 2 1 4 3
® 4 2ynie = 3
© 2 3 1 4
(D) 3 1 Deetel 1

Match the foilnwing :

Plants _ . Movements
(a) Mimosapudica 1.
(b) Oxalis 2
(¢ Drosera .
(d) Tulip 4,
@ERH O @
o 2 sy 3
(B) 4 2 1 3
c 2 3 1 4
(D) 3 1 2 4
Epdaam_cuienn GlUMmESS
STEUI RIS : D ENF ST -

Photonastic movement
Seismonastic movement
Thermonastic movement

Thigmonastic movement

(a) Qsmiine Agprd 1. JSCum CLrameavigsd Siensay

(b)) wvewlyafFsren 2. ﬂa"nﬂmnajnn’uqi SHENFRY
(c) wCprélgm 3. Qg rGiomenmeg & < enFey
(d) @&l 4. ﬂéﬂmrrmrrrahlq_é; D GHFEY

@ e o0

What is the life of Red Blood Corpuscles?

(A.)/ 120 days (B)

(C) 400 days : : (D)

Bloéss Haly Sigpssallan aumpBTLser ereéueuarey?

(A} 120 pmiser : {B}_
C(C) 400 priadr 7 ' S 1))

LAGS/19 26
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69.

ik

The catalyst used for the preparation of Teflon is
(A) hydrogenperoxide (B) nickel
(CI benzoylperoxide : (D) sodium peroxide

Adiwren gwrilésuuweni{in eblenen paddl
(A)  enaplpmen Quirpréenen(p ~ (B) dPas

©) Quensmdé Quimmémav® (D) Camguwid AuiTrémen(

The antidote for organophosphate poisoning is

" (A) ° Pyridine

(B) (BAL) British Ar]ti Lewisite
{Cv Pyridine aldoxime methiodide
(D)  Acetylcholine esterase

s iEGeammunauGul eflasdflbamrean erdliombs)

A Ufliger

(B) (BAL) Gfl gy yemg grullens’
C) Ofiger oL ramend QueagGureaL (B

(D) -fleréd Qemaen erev_L Crei

The world highest road had been constructed in between
(A Manali to Leh (B) Agra to Mumbai
(C) Bikaner to Jaisalmer (D) Pune to Nasik

2 wdlsn e wmoren sreney GeupdlnE @ Cu asn'.l,_linul'_@ld'rmgl?
(A)  wenrallfelmba Clad sueniy (B)  wispmellellinbs (pbenu euenry
() Esnsﬁﬂﬂgﬁ;@ Qgguisreion euepy (D)  wCenelleflimba mnélé eueny

27 LAGS/19
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72.

“Twisters” are otherwise known as

(A) Tsunam (B) Land slide

« (C) Earth quake { W’]‘urnadﬂ

"L@Eﬂsim..ﬁ?ﬁd?" Eeucu oS Sifluiukdlens
(A)  sermd : (B) flowdaflay
(C) Fappasn D) QirpenrGLm

According to the world meteorological organisation cyclone is recognised when the wind
speed exceeds '

(Al 63 kph (B) 70kph

(€)' 75 kph | (D) 100 kph

s s arafleow %mmﬂlﬂﬁ ug @orauafl aawg smpdleér Geausb Serellng
aflafs@b Cung s dlwiu® s i
(A) 63 8.0/wenf B 708.8/we

{C] 75 &5/ wesfl . (D) 100 Hl.b/ wewfl

The government of India's exper;dimrc is classified as follows
{A’ Plan and non-plan expenditure

(B)  Developmental outlays and investment outlays

(C)  Defence expenditure and internal expenditure

(D) Consumption and capital expenditure

Spsam_eury EBhHw sirstiissilen Aswdlamsdr auEssiiuBanpan

(A) £ wphmib A Cblder Clawey a ;
(B)  sueni&él mrj}y‘u}_ apaedl () Ceawey

(C)  ungsmiy whmb o aprl{ Hawey

(D) msrey wombd ppagen Glewa
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© 75, . In whichyear the agricultural price commission was set up in India?
(A - 1962 - (R} 1963 |
© 1964 | (oW 1965

@,m,éjau meléh elleusmy elenadiew aThS eu(HLLD ﬂ'jbu@;galhul'_{_@?
(&) 1962 . (By 1963
@) 1964 ; ' (D) 1965

76.  All the ekpénditure from the consolidated fund in tﬁe.annual finanetal statement to be voted
by the_Lok Sabha are submitted in the form of demand for grants in pursuance of
fAY g Article 110 of the constitution - |
{B) Article 111 of the constitution )
(C)  Article 112 of the constitution

(D3 Article 113 of the constitution

;ﬁ],@ Caeneubsns .meiaaam%n‘z.s'uuﬁ;sb %mr@ fidlfleana ibléons Smﬁutﬁli.muuﬁ@ el poy sugd
Qurrg.l RB SR (FHH Sienandg Asvasmanyb Ceibug | ' '
(A). eg{rjﬁu-mmm_lj_u llﬂ_sugj Aifley

®  srfueeny 111 cug Gifley

{C) QIUQUJ.GJ@;}LQI'JQ 112 sug Gifley

(D) sirflweesoly 113 sug il

7. The famous book, “Law of the increase of state activities” was written by .
(A " R.A Musgrane (BVAdalph Wagner
{C) Prof. Shirras S {D) J.R. Hicks

B T [BLGullq Sen S e é{ﬂaﬂuugﬂmnm FULD" erenm Sblalumm EED WImyTed SLpE I L 7

(A) i waudCrd . ' (B)  maLmédoll euitdypit

Q) Cupndfuwd fnae D) Ceysmyi el

= | | o 29 o - LAGSNY
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I

78.  Which of the following Article says that “when the state of emergency is in operation, the
parliameént ¢can make laws on the state subject"?

{A)  Article 249 e Article 250
(G Article 252 | L (D) Article 253

aqeum;rﬁlmsu 15]!]E-L.EIIILD Qewdun’ 4é Gmésnd Curg wrble Ulywd aﬂan;mﬁ uwu‘n@;mmmm
gl wrgawmnd aeagy £pdsam ops airfiuamn il B sapdog?

(A)  oBf 249 _  (B) &4 250
(©) o 252 (D) e 253

79. Which one of the following article sajrs about the protection and mpmvement of
environment and to aafeguard forests and wild life? )

{A) Article 39 {BY Article39 A
{_C) Article 43 A ' (Dfﬂrticle 48 A

SipsaemL b ahs el Erﬂ}mjﬂz@g_lﬂl urgaEmiy, Gwbu@sgss Gogid a;n{},‘:asm L HmLD
euemefiarii@ LnglamugL ubbl mﬂﬂg}@‘?

(A) o4 39 ‘ B) 98394
(C) eHP43A | D) A48 A

80. Soli Sorabji committee is related to
{A) Reforms in Criminal Law
(B) Administrative reforms
(C) Military activities in border area -
(D), Reforma in police law

Conadl Qe Gy TEGILT FDLGSOILIL L &7
(A) @EdHpeliud s frenody

B) MAieurs Sremoliy .

(C) adeaCuny Brrgno ptugEas

D)  arcudgop s L& Spepouyy
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81.

az.

B3

Which of the following Article of the constitution deals with the waters of inter-state rivers
and river valleys?

{AY  Article 260 {B) Ar;iele 261

-~ udl Article 262 @) Article 263

SpeeamL - sirflusembiys sl dfsdlle ap wrielsgss Heodorar wome 5
LTS HE G @RS Fer ufeoran pd B limhsn LDGlurg '
(A) <4 260 (B) =blfl261 -

© ageer | @) 6H263

- Which of the following Articles empowers the Preeident to make proclamation of emergency

if he fecls the security of [nl:ha ie threatened by war, external aggression or armed rebellion.

(AW Article 352 (B} Article 353

(C}  Article 3564 - (D) Article 355

Eeduneld urgsrind e Gurd, Geusfipri (B LaL abuly whHpD ﬁ,u.[ﬁu: S mme ApaILONE

LUHE UGS A THETED (g LITHS mwm@&@ oThE FLUL eE!,ﬁ Sisusy flenaw SrsLemlubss

- siflanyi gt GHng?
(A)  ofd 352 (B) 551@ 353
© AP35 - O B 355

Which of the following article says that all the ministers appointed by the president on the
advise of the Prime Minister

(A)  Article 53 (B) Article 53(1)
(xS Article 75(1) M) Article 74

&mmﬁg S EFTHFHLD Lﬁlvﬁmrﬂm %@wnemmuﬂlﬁr Gufld gemndug ;ﬂumeme AEE TG

. erenugamen &paumb arbg i f GHLIGEDS.
{A) B 53 (B) <HH53(1)

© aH75(1) D) P74
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B4, V.D. Savarkar organized the *sccret society” namely
(A) _Lundun saciety (BY Anusilan Samiti
' Abhinav Bharat (D} Jugantar

V.D. sourrgal simwngs ‘@osflug shegdlar Guwt
{(A) e Gemanslg ' (B) sgFaan silg)
{Cy =faew s (I mraren i

85. As perthe directions of Mahatma CGandhi who among the following was the first to launch
the individual Satyagraha in 1940

{AY dJawaharla] Nehru.
(Bj’ ¥inoba Bhave |

{C) ' Rajagopalachari

(D) - Jayaprakash Narayan

LELSAN aarr.gglui'lﬁh'r Fllemarig 1940-1b syanl galpur ssdunrdyapsms Qpé;sﬁlé; gje.ua’aﬂmmr'r'
WA ? _

A)  meugptard Cms

(B} OCpmumunGe

(Cy | @oemGsrumamésmt

(D)  QguiGpsncy prymusmn

86.  Which year Gandhi-Irwin pact was signed?
(&) 1930 ' : ' (Bs/ 1931
() 1933 (D) 1932

FTpd-Greflen pUUBED eQumiud Bl L e aE?
(A 1930 (B) 1931
{.C'} 1933 (D) 1932
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88,

In which year Dupleix, the French Governor of Chandernagar was promoted as Governor of

. Poﬁdichérr}f?

{A) - 1735 ' B B 1740 -
ol 1741 D) 1744

ahE euIEL D &6 & ppranfle: Ndregs FHEOTENTTE @@,r_ﬁg} L GGar unem g FEefl seuramyrs Legall muaiay

Quppai?
CU(A) . 1785 o o ®) 1740 |
{C}I 1741 - a N D). 1744
Ass;ertion (A) The Government of India ;Jassed | _resc@utinn on lnu_:ai seif gpovernment in
_1918 | ’ _ |
Reason ._(R}- : There iz shortage of good ]_:'mcrks an the Sll.-bjﬂl;t fﬁf Local self:go?érnmeﬁi;.

{A) .But.h {A) and (R) are true (R) explains (A)

. (Bl Both {A) and (R} are true (R) does not explain @}

(C} (A)is true and Eut- (R) is false

(D) (A)is false and but (B) is true

Faby (A) 0 1918-d wememld pepewul updu  Srworebes QEdw  mrerhisbn
| Qeuafuil L g | -
smrern () : ﬁ.dT;r'fﬂLAﬂ [;I:lﬂmﬂ',!l LBl Beey q;ii;ﬁa;rha';é‘r.lﬂsﬁs_ (EENMHEUTS & GTama

{A) | (A) wimb (B) @qﬂr@@m #f. Cugin (R) sramugy (A)ehlhE silwmer eflendan -

By {A) L:Q,liaggn (R} @qé’m@@m &k Gm@j&: (R) m;hu@ {(Adefriyg aflwimesn el endsind o

(© (&) s e ®) saum

(D) (A) poug spemreo (R) sl

33 ' o " LAGS/NS

[Turn over



89. How many years did The Justice party in Tamilnadu remain in power

{A’ la'yanra

(B) 15 years
(8] 11 years
(D) 14 years

sAPBIC g BHES A ergsanan ppan (e gl aidlsss?
(A) 13 eumLriser

(B) 15 aumLrisser

© 11 ugprsissn

D) 14 cuprmsar

90. Robert De Nobili changed his name as
(A) Christava Thondan (B) . Thathuva Podager
(C)  Christava Margan® ' : {I}V Veerama Munivar

grum_-g-Apmied gang Quweny Beveumgy wrphlsQaramm.
(A) Adlevge Qgmemi : (B) spgeu Cungai
©)  Sflevseu wniser (D)  eSporepafiout

91. How many phases of Lok Sabha polls conducted on 2019 elections?
(A) 4

B) 5
@ 6 i o 7

2019 Garg sur Cgigdla assman s Lksams Caisad pen dupmdrarg ?
@ 4 : B) 5
(C) 6 D) 7
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92,

93.

94.

The Aryabhatta Research Institute of observational sciences is located in which state?
{A}, Uttarkhanﬂ (B} Andhra Pradesh

(C) Kerala : (D) Punjab :

spAlwucer s ufley eflellwe eyrmisdl flmsuend s wrhlesfa mennpgarers?
(A) o sfgaram (B) <uEdr 9rGssd

(C)  Cagern (D) uggEml

When is the data protection day celebrated ?
(A) ' 26 January (By 27thJanuary

(C)/ 28th January : (D) 29t January

© | BEeuE UTgISTLIL 'E.!rré"lT-GTﬂ'irmj C‘I&;rrmﬂ_rrl_uu@lélmgﬂ’?

(A)  memeufl 26 . (B) memeufl 27

. (C) memeufl 28 (D) - memeufl 29

Which State hosted the 3 edition of science film festival of India 20187
(A) ' Maharastra ; (BJGUB.

{(Cy . Tamil Nadu () Mumbai

Seugl @b sidleflwe Fengl Gﬂlgrr 2018 arps wnfled BLSHwg?
(A) mg_mmjrrc'ql'_rrrf ' (BY Gamsum.

© sfps® (D) qpbumd

35 : LAGS/19
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85.  India’s first runway on seabridge is to come up in which statefunion territory? -
(A) Andaman and Nicobar Island . (BW Lakshwadeep
(C) Mangaluru ' () Andhra Pradesh

Bpdwireller Qpgd sLH Lima @[_T-}urrmﬁ o il weilwen SnGpesfld siamwssluL. o drag?
(A  ipswrer flaGerur Sey (B) alsssay -
©  wasEm (D) aubly GrCasn

96. Who eﬂited. the book “The wayv I see it : A Gauri Lankesh Reader™?
{A)  Abdus salam puthige
{B) Chakravarthy chandrachud
{Cw Chandﬁnguwda
() P.Lankesh

"8 Gau p £ " gl @riCacy AL arérp Lggasmg AEN@GESeuT W(?
{a) aﬁgaﬁ&wnm LSHCs

(B) sEsgauidh spfom

(C) ar;},;rrsh_a;eqn_n

(D) ﬁ.m@@&eﬁq

97. Who is the first female Mayor of Capital City Rome?
(A ‘ Margarett '[B/Virg'inia Raggi
(C) Dia mirza (D) Diana

Combd paErssen 1phd QL Guowi wm? _
{A)  waraseQdrl | 13 shrgdlaflwir prid
©) cwrdagr (Y wwrena
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98.

99.

100.

Which city 1s hasting the Himalayan Hydro Expo 2018

{A/ Kathmandu (B) Shimla
(C) Gaﬁ_gmk : (D) Itanagar

&5 BaT Ewromnuea eap Cor gaavGunr 2018 BL 55 2 drarg?
(A) Err,e_i,:.'m mewT(E) e (B) ~ &beon

(C) Csmns - N (D) mlonman

Project Mausam is the initiative of which union ministry?
(A) Ministry of Panchayati Raj-
(E-f Ministry of culture

(C) - Ministry of human resource development

(D) Ministry of Health and Family welfare

wreusd L b e SannFFssdan pwHEl?
(A)  LERETLSE TTE BiELDEFFHLD

(B) sanésny senwiasin

(C) wails euar Cubur( SenpéssLd

D) 2L dwHmD GHLUBS SHFEED

Who appoints the Chief election commissioners of India
(A)  The president of India " (B) Prime minister of India
(C)  Chief Justice of India (D) Chief secretary of India

EpHwrellen samaenn Coigd spamammueny Blunlliug wrr?
A @bsu gandud ® @pSu Gygwi
C) @sfusaaawn bHuf O @sdu swa@o Asweanar
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GENERAL STUDIES
(DEGREE STANDARD)

Time Allowed : 2 Hours] : C[Maximum Marks : 200

Read the following instructions carefully before yvou begin to answer the guestions,

=

=1

10.

11.
12,

13.

IMPORTANT INSTRUCTIONS
The appljcanﬁ will'be supplied wiLl_a Question Booklet 156 minutes before commencement of the examination.
This Question Booklet contains 100 guestions. Prior to attempting to answer, the candidates are

-requested to check whether all the questions are there in series and ensure there are no blank pages in

the gquestion booklet. In case any defect in the Question Paper is noticed, it shall be reported to
the Invigilator within first 10 minutes and get it replaced with a complete Question Booklet.
If any defect is noticed in the Question Booklet after the commencement of examination, it
will not be replaced.
Anawer all questions. All questions earry equ.i] marks.
You musat write vour Regiater Number in the space provided on the top right side of this page. Do not
write anything else.on the Question Booklet. :
An answer sheet will be supplied to vou, separately by the Room Invigilator to mark the answers.
You will alzo encode your Question Booklet Mumber with Blue or Black ink Ball point pen in the space
provided on the side 2 of the' Answer Sheet. If you do not encode properly or fail to encode the above
information, action will be taken as per Commission’s notification. :
Each question comprises four responses (A), (B), (C) and (D). You are to select ONLY ONE correct
response and mark in vour Answer Sheet. In case you feel that there are more than one correct
response, mark the responge which vou consider the best. In any case, choose ONLY ONE response for
each gquestion. Your total marks will depend on the number of correct responses marked by 3 you in the
Answer Sheet.
In the Answer Sheet there are four circles @ ; ®: @ and @ against each gquestion. To answer the
questions vou are to mark with Blue or Black ink Ball point pen ONLY ONE circle of your choice for
each question. Select one response for each question in the Question Booklet and mark in the Answer
Sheet. If vou mark more than one answer for one question, the answer will be treated as wrong. e.g. If
for any item, is the correct answer, you have to mark as follows :

@O 00 '

You should not remove or tear off any sheet from this Question Booklet. You are not allowed to take
this Question Booklet and the Answer Sheet out of the Examination Hall' during the time of
examination. After the examination is concluded, vou must hand over vour Answer Sheet to the
Invigilator. You are allowed to take the GQuestion Booklet with vou only after the Examination is over,

Do not make any marking in the question booklet except in the sheet before the last page of

_ the question booklet, which can be used for rough work. This should be strictly adhered.

In all matters and in cases of doubt, the English version is final.

- Applicants have to write and shade the total number of answer fields left blank on the boxes provided

at side 2 of OMR Answer Sheet. An extra time of 5 minutes will be given to specify the number of
answer felds left blank.

Failure to comply with any of the .-_a.bme 1r1:=-Lru-:,tmns will render vou liable to such action or penalty as
the Commission may decide at their discretion.
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